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Grashof law states that if (he sum of the lengths of the longest link
and the shortest link is less than the sum of the lengths of the other
two, there will be formed a crank rocker when the shortest link is the
fixed link.

Aronhold-Kennedy theorem states that any three bodies in plane
motion will have exactly three ‘instant centers, and they will lie on the
same straight line. ’

As a rule of thumb, we would like the pressure angle to be between
zero and about 30 degrees for translating roller-followers to avoid
excessive side load on the sliding follower.

For crossed helical gears to mesh properly, there is only one
requirement, that ‘is, they must have common normal pitches or
modules.

For the rise motion of a follower with the same lift and cam rotation
angle, the cycloidal curve has the minimum peak value of velocity.

CHER(EIHEE )

List all possible planar six-link kinematic chains with simple revolute
joints and having one degrec of freedom.

Show the correct way to arrange two Hook's couplings so as to get
unity constant velocity ratio of the input shaft to the output shaft.

MY (FDHES)

Two standard 20° full-depth involute gears have pitch diameters of
4.5 and 12 inches. What is the largest tooth size, in terms of diametral

pitch, that can _be used without having any interference and
undercutting?

Figure 1 shows a planetary gear train used in an automotive rear-end -

differential (not to scale). The car has wheels with a 15-inch rolling
radius and is moving forward in a straight line at 50 mph. The enginc
is turning 2,000 _rpm. The transmission is in direct drive (1:1) with
the driveshaft. As the car hits a patch of ice, the right wheel speeds
up to 800 RPM. What is the speed of the left wheel?
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For the slider-crank- mechanism shown in Fig. 2, solve the position

analysis problem using the Newton-Raphson method.

a. Write the scalar loop position equations.

b. For ry = 1 in, r2 = 2"in, r3 = 4 in. and 85 = 6O deg., the initial
estimates of ©3 and r4 are 320 deg. and 4 in., respectively.
Continue the iterations until you are within 0.5 deg. and 0.01 in. of
the correct answers.
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